#### SUBDIVISION IMPROVEMENT AGREEMENT

SUBDIVIDER: MELIA HOMES

#### **TRACT MAP NO. 18169**

**THIS AGREEMENT** is made this 26<sup>th</sup> day of November, 2019, by the CITY OF GARDEN GROVE, a municipal corporation ("CITY"), and **CONSOLIDATED INDUSTRIES**, **INC**, a California Corporation as the owner. ("SUBDIVIDER"). CITY and SUBDIVIDER are sometime referred to herein individually as the "Party" or collectively as the "Parties."

#### **RECITALS**:

The following recitals are a substantive part of this Agreement:

- 1. SUBDIVIDER has obtained initial City approval of a subdivision map for Tentative Tract Map No 18169-19 ("Project"), subject to certain conditions of approval for the development of the Project ("Conditions of Approval").
- 2. As a condition precedent to the approval of the Final Map by CITY, SUBDIVIDER is required to construct, install and/or offer for dedication to CITY certain streets, highways, easements, infrastructure improvements and/or parcels of land intended for public use as set forth in the Conditions of Approval.
- 3. SUBDIVIDER has delivered to CITY and CITY has approved plans and specifications and related documents for certain "Improvements" (as hereinafter defined), which are required to be constructed and installed in order to accommodate the development of the Project.
- 4. SUBDIVIDER has requested approval of the Final Map prior to completion of all of the Improvements.
- 5. To assure CITY that SUBDIVIDER will complete construction and installation of all required Improvements, the Parties have entered into this Agreement.
- 6. SUBDIVIDER's agreement to construct and install the Improvements pursuant to this Agreement and its offer of dedication of the streets, easements, and other improvements, as shown on the Final Map, are a material consideration to CITY in approving the Final Map and permitting development of the Project to proceed.
- 7. This Agreement is entered into in accordance with the Subdivision Map Act (Government Code sections 66410 et seq.) and the ordinances, rules, regulations, and determinations of the CITY.

#### **AGREEMENT**

NOW THEREFORE, based on the foregoing Recitals, which are incorporated herein by reference, and in consideration of the CITY's approving the Final Map and permitting development of the Project to proceed, CITY's acceptance of the streets, easement, and other improvements offered for dedication by SUBDIVIDER, and the mutual promises contained herein, the Parties mutually agree as follows:

- 1. <u>Improvements</u>. SUBDIVIDER, at his or her sole expense, agrees to construct and install, as applicable, the street, sidewalks, drainage, domestic water, sanitary sewer, and other improvements (herein sometimes collectively referred to as the "Improvements") required to be constructed or agreed to be constructed as a condition precedent to the approval of the Final Map and acceptance of such streets and easements, as expressly shown on (1) the Improvement Lists attached hereto at Exhibit "A" and Exhibit "B" and incorporated herein by reference, and/or (2) the approved Project Improvement Plans on file with CITY and/or subsequently approved or revised by CITY and SUBDIVIDER (the "Improvement Plans"). The estimated construction cost for the Improvements is \$1,547,407.00.
- 2. <u>Security.</u> To secure the faithful performance of each Improvement required under this Agreement and to ensure full payment to all persons furnishing or supplying labor or materials for each improvement required, SUBDIVIDER shall provide CITY, prior to the execution of this Agreement by CITY, with the following bonds (or a cash deposit or instrument of credit in lieu of bonds):

Improvement	Type of Bond	Amount
100% of total estimate for Off-Site Improvements and On-Site Grading, Water/Sewer & Drainage Improvements as shown on Grading Plan No. G-1401, Water/Sewer Plan No. W-611 & Street Improvement Plan No. A-1900.	Faithful Performance	\$324,125.00
50% total estimate for Off-Site Improvements and On-Site Grading, Water/Sewer & Drainage Improvements as shown on Grading Plan No. G-1401, Water/Sewer Plan No. W-611 & Street Improvement Plan No. A-1900.	Labor & Material	\$162,062.50
100% total estimate for Survey Monument Bond for setting required survey monuments and filing all documentation and records as described and required by the Final Tract Map on file with the CITY	Monument Bond	\$5,000.00

The bonds shall be executed on CITY forms by a surety authorized to do business in the State of California and shall be subject to approval by the City Attorney. Any instrument of credit provided in lieu of bonds shall from a qualified financial institution, and in a form, acceptable to CITY.

- 3. <u>Time for Completion</u>. SUBDIVIDER shall complete construction and installation of the Improvements within 365 days, or such later time as approved by the CITY in writing.
- 4. <u>CITY Inspection and Acceptance</u>. The City Engineer or his or her duly authorized representative, upon request of SUBDIVIDER, shall inspect the Improvements herein agreed to be constructed or installed by SUBDIVIDER, and, if determined to be in accordance with the applicable CITY standards, as set forth in the Garden Grove Municipal Code, Conditions of Approval and Improvement Plans, shall recommend the acceptance of such Improvements by the CITY.
- 5. <u>Changes or Alterations</u>. SUBDIVIDER shall perform any changes or alterations in the construction and installation of the Improvements required by CITY, to the extent such changes or alterations are needed to cause the Improvements to comply with the applicable CITY standards, as set forth in the Garden Grove Municipal Code, Conditions of Approval and Improvement Plans.
- 6. <u>Guarantee</u>. SUBDIVIDER shall guarantee such Improvements for a period of one (1) year following the completion by SUBDIVIDER and acceptance by CITY against any defective work or labor done, or defective materials furnished, in the performance of work pursuant to this Agreement.
- 7. Insurance and Indemnification Requirements.
  - 7.1 Commencement of Work. Unless expressly waived in writing by CITY, insurance meeting the requirements set forth in this Agreement and covering the acts and omissions of SUBDIVIDER and all contractors and subcontractors engaged in any way in the construction and installation of the Improvements must be provided to CITY, and SUBDIVIDER and all contractors and subcontractors shall not commence work under this Agreement until all required insurance certificates and endorsements have been received and approved by the CITY. All insurance required by this Agreement shall contain a Statement of Obligation on the part of the carrier to notify the CITY of any reduction in coverage or in limits, suspension, cancellation, or termination at least thirty (30) days in advance.
  - 7.2 <u>Contractors and Subcontractors</u>. SUBDIVIDER shall require all contractors and subcontractors engaged in construction or installation of the Improvements to obtain and maintain the same insurance coverage as required of SUBDIVIDER herein, and shall require such contractors and subcontractors to

agree to comply with the insurance requirements herein, including providing the endorsements naming the CITY as an additional insured. SUBDIVIDER shall be responsible to collect and maintain all insurance from all contractors and subcontractors. Should the insurance carrier for any contractor or subcontractor require an agreement with the CITY prior to providing effective additional insured coverage, then such contractor or subcontractor shall be required to execute an agreement with the CITY, in a form approved by the City Attorney, agreeing to perform the pertinent work and stipulating to indemnify and provide insurance under the terms of the Insurance and Indemnification Requirements of this Agreement. Inclusion of a contractor or subcontractor in a "wrap" or similar insurance program of SUBDIVIDER approved by the City shall satisfy CONTRACTOR's obligations under this Section 7.2.

- 7.3 Workers Compensation Insurance. SUBDIVIDER shall obtain and maintain Workers Compensation Insurance prior to commencing any work hereunder in the amount and type required by California law, if applicable. The insurer shall waive its rights of subrogation against the CITY, its officers, officials, agents, employees, and volunteers.
- 7.4 <u>Insurance Amounts</u>. SUBDIVIDER shall provide and maintain and shall cause its contractors and all subcontractors engaged in any way in the construction and installation of the Improvements to provide and maintain the following insurance prior to commencing any work hereunder:
  - (a)Commercial general liability, including mobile equipment and not excluding XCU, in an amount not less than \$5,000,000 per occurrence; (claims made and modified occurrence policies are <u>not</u> acceptable); Insurance companies must be acceptable to CITY and have an AM Best's Guide Rating of A-, Class VII or better, as approved by the CITY.
  - (b) Automobile liability in an amount not less than of \$2,000,000 combined single limit; (claims made and modified occurrence policies are not acceptable); Insurance companies must be acceptable to CITY and have an AM Best's Guide Rating of A-, Class VII or better, as approved by the CITY.

An Additional Insured Endorsement, **ongoing and products-completed operations**, for the policy under section 7.4 (a) shall designate CITY, its officers, officials, employees, agents, and volunteers as additional insureds for liability arising out of work or operations performed by or on behalf of the SUBDIVIDER. SUBDIVIDER shall provide to CITY proof of insurance and endorsement forms that conform to CITY's requirements, as approved by the CITY.

An Additional Insured Endorsement for the policy under section 7.4 (b) shall designate CITY, its officers, officials, employees, agents, and volunteers as additional insureds for automobiles owned, leased, hired, or borrowed by the

SUBDIVIDER shall provide to CITY proof of insurance and endorsement forms that conform to CITY's requirements, as approved by the CITY.

For any claims related to this Agreement, SUBDIVIDER's insurance coverage shall be primary insurance as respects CITY, its officers, officials, employees, agents, and volunteers. Any insurance or self-insurance maintained by the CITY, its officers, officials, employees, agents, or volunteers shall be excess of the SUBDIVIDERS's insurance and shall not contribute with it.

The insurer for each policy of insurance required pursuant to this Agreement shall waive its rights of subrogation and provide a waiver of subrogation against CITY, its officers, officials, employees, agents, and volunteers.

In the event any of SUBDIVIDER's underlying policies do not meet policy limits within the insurance requirements, SUBDIVIDER shall provide: 1) the schedule of underlying polices for a follows form excess liability policy, 2) state that the excess policy follows form on the insurance certificate, and 3) an additional insured endorsement for the follows form excess liability policy designating CITY, its officers, officials, employees, agents, and volunteers.

If SUBDIVIDER maintains higher insurance limits than the minimums shown above, SUBDIVIDER shall provide coverage for the higher insurance limits otherwise maintained by the SUBDIVIDER.

#### 7.5 **Indemnification.**

- (a) SUBDIVIDER agrees to protect, defend, and hold harmless CITY and its officials, officers, employees and agents from any and all claims, liabilities, expenses or damages of any nature, including attorneys' fees for injury to or death of any person, damage to property, interference with use of property, and monetary damages of any nature resulting from, arising out of, or in any way connected with performance of the Agreement by SUBDIVIDER and its agents, officers, employees, subcontractors, or independent contractors hired by SUBDIVIDER. The only exception to SUBDIVIDER'S responsibility to protect, defend, indemnify and hold harmless CITY, is due to the negligence or willful misconduct of CITY, or any of its officials, officers, employees or agents.
- (b) CITY does not, and shall not waive any rights against SUBDIVIDER, which it may have by reason of this hold harmless agreement. This hold harmless agreement shall apply to all liability regardless of whether or not any insurance policies are applicable. The policy limits do not act as a limitation upon the amount of indemnification to be provided by SUBDIVIDER in the event of loss, claim, damage, or expense. The indemnification obligations of SUBDIVIDER shall survive the termination of this Agreement until all such obligations are fully and finally resolved.

### 8. **Default**.

- 8.1 Remedies Not Exclusive. In any case where this Agreement provides a specific remedy to CITY for a default by SUBDIVIDER hereunder, such remedy shall be in addition to, and not exclusive of, CITY's right to pursue any other administrative, legal, or equitable remedy to which it may be entitled.
- 8.2 <u>CITY Right to Perform Work.</u> In the event SUBDIVIDER fails to perform any obligations under this Agreement, SUBDIVIDER hereby authorizes CITY to perform such obligations twenty (20) days after mailing written Notice of Default to SUBDIVIDER at the address given below, and agrees to pay the entire cost of such performance by CITY, unless SUBDIVIDER commences to cure such default in such twenty (20) day period, or such additional time as CITY deems reasonable in its sole discretion, and diligently proceeds with such cure
- 8.3 Costs and Attorney's Fees. In the event SUBDIVIDER fails to perform any obligations under this Agreement, subject to any cure periods provided for herein SUBDIVIDER agrees to pay all costs and expenses reasonably and actually incurred by CITY in securing performance of such obligations, including costs of suit and reasonable attorney's fees. In the event of any dispute arising out of SUBDIVIDER's performance of its obligations under this Agreement or under any of the Security Instruments referenced herein, the prevailing party in such action, in addition to any other relief which may be granted, shall be entitled to recover its reasonable attorney's fees and costs. Such attorney's fees and cost shall include fees and costs on any appeal, and in addition a party entitled to attorney's fees and costs shall be entitled to all other reasonable costs incurred in investigating such action, taking depositions and discovery, retaining expert witnesses, and all other necessary and related costs with respect to the litigation. All such fees and costs shall be deemed to have accrued on commencement of the action and shall be enforceable whether or not the action is prosecuted to judgment.
- 9. Non-Liability of Officials and Employees of CITY. No member, official or employee of CITY shall be personally liable to SUBDIVIDER, or any successor in interest, in the event of any default or breach by CITY, or for any amount which may become due from CITY or its successor, or any obligation under the terms of this Agreement.

#### 10. Labor.

10.1 <u>Labor Standards</u>. SUBDIVIDER shall be responsible for causing itself and all contractors and subcontractors constructing or installing any of the Infrastructure Improvements to comply with all applicable federal and state labor standards, including, to the extent applicable, the prevailing wage

requirements promulgated by the Director of Industrial Relations of the State of California Department of Labor. CITY makes no warranty or representation concerning whether any of the Infrastructure Improvements required to be constructed and/or installed pursuant to this Agreement constitute public works subject to the prevailing wage requirements.

- 10.2 <u>Non-Discrimination</u>. SUBDIVIDER covenants and agrees that there shall be no discrimination against or segregation of any person, group, or employee due to race, color, creed, religion, sex, marital status, age, handicap, national origin or ancestry, in any action or activity undertaken pursuant to this Agreement.
- 10.3 <u>Licensed Contractors</u>. SUBDIVIDER shall cause all of the Infrastructure Improvements to be constructed and/or installed by contractors and subcontractors with valid California Contractors' licenses for the type of work being performed.
- 11. Change of Subdivider. If SUBDIVIDER ceases to have legal interest in the Project, then a notice to that effect shall be filed with CITY by SUBDIVIDER. The notice shall include the name and address of the new subdivider. SUBDIVIDER shall require as a condition of the transfer of the legal interest in the Project, that the new subdivider shall (1) submit new bonds in accordance with this Agreement (at which time the original bonds shall be released); (2) submit to CITY a certified copy of the recorded deed referencing the transfer of the legal interest; and (iii) require that, upon transfer, the successor subdivider undertake all of the obligations under this Agreement in lieu and in place of SUBDIVIDER. Thereafter, SUBDIVIDER shall have no further obligations to CITY under this Agreement except for any liability, obligations, acts or omissions incurred prior to such transfer. SUBDIVIDER's responsibility for such liability, obligations, acts or omissions shall survive until such liability or obligations are fully and finally resolved, or until the statute of limitations on such acts or omissions has elapsed.
- 12. **General Provisions.** It is mutually agreed as follows:
  - 12.1 <u>Assignment or Delegation</u>. Except as permitted under Section 11 above, neither CITY nor SUBDIVIDER shall assign this Agreement without the consent of the other. Except as permitted under Section 11 above, SUBDIVIDER shall not delegate its obligations under this Agreement to another.
  - 12.2 <u>Independent Contractor</u>. It is understood and agreed that, in connection with the performance of SUBDIVIDER's obligations under this Agreement, SUBDIVIDER, its employees, agents, contractors, and any subcontractors acting on behalf of SUBDIVIDER shall act and be independent contractors and shall not be agents or employees of the CITY, and as independent contractors,

shall obtain no rights to retirement benefits, or other benefits which accrue to CITY employees, and SUBDIVIDER, on behalf of itself, its employees, agents, contractors, and any subcontractors acting on behalf of SUBDIVIDER, hereby expressly waives any claim it may have to any such rights.

- 12.3 <u>Compliance with Law</u>. SUBDIVIDER shall comply with, and require all those acting on SUBDIVIDER's behalf to comply with, all applicable laws, ordinances, codes, and regulations of the federal, state, and local government.
  - 12.5 <u>Conflict of Interest and Reporting</u>. SUBDIVIDER shall at all times avoid conflict of interest or appearance of conflict of interest in performance of this Agreement.
- 12.5 Notices. All notices shall be personally delivered or mailed, postage prepaid, to the below-listed address, or to such other address as may be designated by written notice. These addresses shall be used for delivery of service of process.

If to SUBDIVIDER: Consolidated Industries, Inc 8951 Research Drive, Irvine, California 92618

If to CITY:

City of Garden Grove Attention: Public Works Director 11222 Acacia Parkway Garden Grove, California 92840

- 12.14 <u>Licenses, Permits, Fees, and Assessments</u>. At its sole cost and expense, SUBDIVIDER shall obtain such license, permits, and approvals as may be required by law for the performance of SUBDIVIDER's obligations under this Agreement. SUBDIVIDER shall have the sole obligation to pay for any fees, assessments, and taxes, plus applicable penalties and interest, which may be imposed by law and arise from or are necessary for the performance of the obligations required under this Agreement.
- 12.15 <u>Time of Essence</u>. Time is of the essence in the performance of this Agreement.
- 12.16 <u>Heirs, Successors and Assigns.</u> This Agreement shall be binding upon and inure to the benefit of the heirs, successors and assigns of the parties, including all successors and assigns to SUBDIVIDER's right, title, and interest in the property covered by the Project and any portion thereof.

- 12.17 Corporate Authority. The persons executing this Agreement on behalf of the parties hereto warrant that they are duly authorized to execute this Agreement on behalf of said parties and that by so executing this Agreement the parties hereto are formally bound to the provisions of this Agreement.
- 12.18 <u>Modification</u>. This Agreement constitutes the entire agreement between the parties. This Agreement may be modified only by subsequent mutual written agreement executed by CITY and SUBDIVIDER.
- 12.19 <u>Waiver</u>. All waivers of the provisions of this Agreement must be in writing by the appropriate authorities of the CITY and SUBDIVIDER. SUBDIVIDER agrees that waiver by CITY of any one or more of the conditions of performance under this Agreement shall not be construed as waiver of any other condition of performance under this Agreement.
- 12.20 <u>California Law</u>. This Agreement shall be construed in accordance with the laws of the State of California. Any action commenced pursuant to this Agreement shall be initiated in the central or main branch of the Orange County Superior Court.
- 12.21 <u>Interpretation</u>. This Agreement shall be interpreted as though prepared by both parties.
- 12.22 <u>Preservation of Agreement</u>. Should any paragraph, clause, provision or word of this Agreement be found invalid or unenforceable, such decision shall affect only the paragraph, clause, provision or word so construed and interpreted, and all remaining provisions shall remain valid and enforceable.
- 13. <u>Mutual Agreement</u>. The parties hereto do mutually covenant and agree to the full and faithful performance of their respective obligations under this Agreement.

[SIGNATURES ON FOLLOWING PAGE]

**IN WITNESS THEREOF**, these parties have executed this Agreement on the day and year shown below.

"CITY"

# **CITY OF GARDEN GROVE** Date: City Manager ATTEST: City Clerk Date: "SUBDIVIDER" **CONSOLIDATED INDUSTRIES, INC., a** California Corporation Date: October 25, 2019 Name: William R. Tatham, Sr. lts: President By: \_\_\_\_\_ Name: APPROVED AS TO FORM: If SUBDIVIDER is a corporation, a Corporate Resolution and/or Corporate Seal is required. If Garden Grove City Attorney a partnership. Statement of Partnership must Date: be submitted to CITY.

INSTRUCTIONS: If SUBDIVIDER is a corporation or limited liability company, the Agreement must be executed in the corporate/LLC name and signed by the President or a Vice-President and the Secretary or Assistant Secretary. If SUBDIVIDER is a limited liability company with designated centralized management (i.e., those that specifically designate in their articles of organization that they will be managed by a manager or managers), the Agreement must be executed in the LLC's name and signed by at least *two managers* (or by one manager in the case of an LLC whose articles of organization state that it is managed by only one manager). If SUBDIVIDER is a partnership, it must be signed by all general partners. If SUBDIVIDER is an individual doing business under a fictitious name, it must be signed by all persons having an interest in the business, and the fictitious name must be included.

## **ACKNOWLEDGMENT**

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.

validity of that document.
State of California County of Fresno )
On October 25, 2019 before me, Suzanne J. Hirata, Notary Public (insert name and title of the officer)
personally appeared William R. Tatham, Sr. who proved to me on the basis of satisfactory evidence to be the person(s) whose name(s) is/are subscribed to the within instrument and acknowledged to me that he/she/they executed the same in his/her/their authorized capacity(ies), and that by his/her/their signature(s) on the instrument the person(s), or the entity upon behalf of which the person(s) acted, executed the instrument.
I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct.
WITNESS my hand and official seal.  SUZANNE J. HIRATA DE COMM. #2187501 NOTARY PUBLIC • CALIFORNIA DE FRESNO COUNTY My Comm. Exp. Apr. 17, 2021

## **EXHIBIT A**

Exhibit A-1 - Engineering Cost Estimate, Off-site Street Improvements Exhibit A-2 - Engineering Cost Estimate, Precise Grading Exhibit A-3 - Engineering Cost Estimate, Sewer and Water Improvements

## **City of Garden Grove ENGINEERING COST ESTIMATE**

PROJECT NO: TRACT 18169

LOCATION: 9861 11th St, Garden Grove, CA 92844

BY: CA Engineering

**DATE:** 7/31/2019

Item Description	Ū	Jnit Cost	Quantity	Unit		Cost
OFF-SITE						
6" MIN. AC OVER 8" MIN. AB.*	\$	2.25	8,853	SF	\$	19,919
CURB AND GUTTER PER CITY OF GARDEN GROVE STD. PLAN NO. B-114, TYPE "D" (6" CF).	\$	20.00	253	LF	\$	5,060
4" PCC SIDEWALK AND SIDEWALK JOINTS PER CITY OF GARDEN GROVE STD. PLAN NO. B-105.	\$	3.50	1,100	SF	\$	3,850
SAWCUT AND REMOVE EXISTING A.C. PAVEMENT	\$	20.00	70	LF	\$	1,400
PARKWAY DRAIN PER O.C.P.W. STANDARD PLAN NO. 1309 TYPE B	\$	600.00	4	EA	\$	2,400
DRIVEWAY PER CITY OF GARDEN GROVE STD. PLAN NO. B-120 OPTION #2	\$	3.50	406	SF	\$	1,421
POWER POLE RELOCATION	\$	5,000.00	1	EA	\$	5,000
INSTALL 4' SEWER MANHOLE PER CITY OF GARDEN GROVE STD. PLAN NO. S-100	\$	3,000.00	1	EA	\$	3,000
ABANDON EXISTING WATER/FIRE SERVICE	\$	1,000.00	1	EA	\$	1,000
INSTALL 8" EXTRA STRENGTH VCP SEWER LATERAL PER CITY OF GARDEN GROVE STD. PLAN NO. S-111	\$	40.00	31	LF	\$	1,240
Sub-Total Off-Site						44,290

	5% Engineering & Staking:	\$ 2,215
APPROVED BY:	Sub Total:	\$ 46,505
	10% Contingencies	\$ 4,650
DATE:		
	TOTAL OFF-SITE COST:	\$ 51,155

# City of Garden Grove ENGINEERING COST ESTIMATE

PROJECT NO: TRACT 18169

LOCATION: 9861 11th St, Garden Grove, CA 92844

BY: CA Engineering

DATE: 7/3	1/19					
Item Description	ι	Jnit Cost	Quantity	Unit		Cost
ON-SITE						
3" MIN. AC OVER 6" MIN. AB.	\$	3.00	19,350	SF	\$	58,050
CURB AND GUTTER PER CITY OF GARDEN GROVE					ΙŤ	
STD. PLAN NO. B-114, TYPE "D" (6" CF).	\$	20.00	290	LF	\$	5,800
CURB ONLY PER CITY OF GARDEN GROVE STD. PLAN						
NO. B-112, TYPE "A-6" (6" CF).	\$	15.00	530	LF	\$	7,950
ROLLED CURB ONLY PER CITY OF GARDEN GROVE						
STD. PLAN NO. B-116, (6" CF).	\$	25.00	35	LF	\$	875
4" PCC FLATWORK PER L.S. ARCHITECT PLANS.	\$	3.50	4,408	SF	\$	15,428
5' CURB TRANSITION FROM 6" C.F. TO 0" C.F	\$	20.00	10	LF	\$	200
MODIFIED ROLLED CURB (OMIT GUTTER) PER O.C.P.W						
STD. PLAN 1201	\$	30.00	348	LF	\$	10,440
3' RIBBON GUTTER	\$	10.00	360	LF	\$	3,600
2' RIBBON GUTTER	\$	8.00	37	LF	\$	296
2' V-GUTTER	\$	8.00	256	LF	\$	2,048
PARKWAY CULVERT PER CITY OF GARDEN GROVE		4 500 00		<b>-</b>		
STD. PLAN NO. B-209.	\$	1,500.00	3	EA	\$	4,500
4" N.D.S. CHANNEL DRAIN OR APPROVED EQUAL (ADA	_	40.00	200			4.400
COMPLIANT)	\$	16.00	260	LF	\$	4,160
8" N.D.S. CHANNEL DRAIN OR APPROVED EQUAL (ADA		04.00	200		_	7.000
COMPLIANT)	\$	24.00	320	LF	\$	7,680
N.D.S. #1217 12"x12" DRAIN BOX & N.D.S. #1280 GRATE	\$	200.00	4	EA	\$	800
	<u> </u>				Ľ	
3" PVC AREA DRAIN PIPE	\$	20.00	74	LF	\$	1,480
6" PVC AREA DRAIN PIPE	\$	25.00	230	LF	\$	5,750
TRASH ENCLOSURE PER CITY OF GARDEN GROVE	\$	3,500.00	1	EA	\$	3,500
STD. PLAN NO. B-502 & ARCHITECTUAL PLANS	L.		-			
DRAINAGE OUTLET STRUCTURES.	\$	200.00	2	EA	\$	400
CONCRETE DRAINAGE CHANNEL .	\$	20.00	100	LF	\$	2,000
1' V-GUTTER	\$	10.00	25	LF	\$	250
BIO-2 VEGETATED SWALE PER CASQA GUIDELINES	<b> </b> \$	20.00	249	LF	\$	4,980
AND DETAIL HEREON	<u> </u>				Ľ	.,
INF-3 BIORETENTION PLANTER PER CASQA	l s	10.00	799	SF	\$	7,990
GUIDELINES AND DETAIL HEREON	-				Ľ	.,,,,,,
CURB RAMP PER CALTRANS STD. PLAN NO. A88A	\$	800.00	6	EA	\$	4,800
CASE F					Ľ	.,,,,,,
CURB RAMP PER CALTRANS STD. PLAN NO. A88A	\$	800.00	1	EA	\$	800
CASE C						
ENHANCED PAVING PER LANDSCAPE PLANS	\$	8.00	373	SF	\$	2,984
Sub-Total On-Site						156,761
5% Engineering & Staking:					\$	7,838
				-	164,599	
			\$	16,460		
DATE:						
	LTO	TAL ON OUT	- 000T		1 4	404 DED

TOTAL ON-SITE COST: \$ 181,059		 
	TOTAL ON-SITE COST:	\$ 181,059

## **City of Garden Grove ENGINEERING COST ESTIMATE**

PROJECT NO: TRACT 18169

LOCATION: 9861 11th St, Garden Grove, CA 92844

BY: CA Engineering

DATE:

7/31/2019

· · · · · · · · · · · · · · · · · · ·					
Item Description	Unit Cos	t Quantity	Unit		Cost
SEWER					,
INSTALL 8" PVC SDR 35 SEWER PER CITY OF GARDEN GROVE STD. NO. S-106	\$ 35	00 230	LF	\$	8,050
INSTALL 6" PVC SDR 35 SEWER PER CITY OF GARDEN GROVE STD. NO. S-106	\$ 30	.00 322	LF	\$	9,660
INSTALL 4" PVC SDR 35 LATERAL PER CITY OF GARDEN GROVE STD. NO. S-111	\$ 28	.00 404	LF	\$	11,312
INSTALL SEWER CLEANOUT PER CITY OF GARDEN GROVE STD. NO. S-105	\$ 300	.00 5	EA	\$	1,500
WATER					
INSTALL 8" PVC (C900) CL 305 PER CITY OF GARDEN GROVE STD.	\$ 35	.00 553	LF	\$	19,355
INSTALL 1" COPPER SERVICE & METER PER CITY OF GARDEN GROVE STD. NO. B-719	\$ 600	.00 31	EA	\$	18,600
INSTALL ANCHOR BLOCK PER CITY OF GARDEN GROVE STD. NO. B-710	\$ 250	.00 2	EA	\$	500
INSTALL 8" TEE PER CITY OF GARDEN GROVE STD.	\$ 600	.00 2	EA	\$	1,200
INSTALL 12x8" TEE PER CITY OF GARDEN GROVE STD.	\$ 600	.00 1	EA	\$	600
INSTALL FIRE HYDRANT PER CITY OF GARDEN GROVE STD. NO. B-702	\$ 3,000	.00 1	EA	\$	3,000
INSTALL 4" BLOWOFF PER CITY OF GARDEN GROVE STD. NO. B-745	\$ 650	.00 2	EA	\$	1,300
INSTALL GATE VALVES PER CITY OF GARDEN GROVE STD. NO. B-752	\$ 500	.00 7	EA	\$	3,500
INSTALL 1-1/4" IRRIGATION METER	\$ 1,000	.00 1	EA	\$	1,000
Sub-Total Sewer & Water					79,577

	5% Engineering & Staking:
APPROVED BY:	Sub Total:
	10% Contingencies
DATE:	

SEWER & WATER COST:	\$ 91,911

3,979 83,556 8,356

## **EXHIBIT B**

## Final Monumentation - Tract No. 18169

## C.A. ENGINEERING, INC.

## Planning • Engineering • Surveying

10/23/19

City of Garden Grove 11222 Acacia Parkway Garden Grove, CA 92840

Attn.: Mr. Dan Candelaria

Ref. Tract 18169

Mr. Candelaria: The monuments associated with the above referenced tract can be set for a lump sum of \$5,000. If you have any questions, please do not hesitate to call.

Sincerely,

Mr. Jerry Anhorn, L.S.